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QUESTION 1

Which of the following statements about configuring a hierarchical scheduler policy on a SAP is FALSE?
A. Several Tier 1, Tier 2, and Tier 3 schedulers can be defined within a policy.

B. A queue\\'s parent scheduler must be a Tier-3 scheduler.

C. The parent must have a higher level in the hierarchy.

D. If no parent is configured, the queue/scheduler is considered orphaned.

Correct Answer: B

QUESTION 2

Forwarding sub-classes are configured in the context of which QoS policy type?
A. Network

B. Scheduler

C. Slope

D. SAP-ingress

E. Network queue

Correct Answer: D

QUESTION 3
A queue is configured with the following attributes:
MBS = 10KB CBS = 5KB High-Priority-Only = 30%

Assume that there is no CBS overbooking and that the slope-policy is disabled. If the current queue depth is 8KB, what
will happen to an in-profile packet arriving in the queue?

A. It will be discarded because the high-priority-only threshold is exceeded.
B. It will be queued but re-marked as "out-of-profile."”
C. It will be queued in the reserved portion of the buffer pool and remain "in-profile."

D. It will be queued in the shared portion of the buffer pool but contend for shared buffer space with packets from other
queues.

E. It will be queued in the shared portion of the buffer pool but may be dropped if the buffer utilization exceeds the start-
average value of the low slope.
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Correct Answer: D

QUESTION 4

Which priority-mode queue parameter may influence both the profile marking, and scheduling priority of a queue?
A. PIR

B. CIR

C. MBS

D. burst-limit

Correct Answer: B

QUESTION 5

*A:R1# configure router sgt-gos
*A:R1>config>router>sgt-qos# info

application bgp dscp none
dscp ne1 fc af

According to the configuration shown above, which of the following about the classification and marking of self-
generated BGP traffic is TRUE?

A. It will be marked as DSCP BE and classified into forwarding class BE.

B. It will be marked as DSCP NC1 and classified into forwarding class BE.
C. It will be marked as DSCP NC1 and classified into forwarding class NC.
D. It will be marked as DSCP NC1 and classified into forwarding class AF.

Correct Answer: D
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